]
|
L

s G

7’

=

«—-——-%[ L-f“_; 134{ pata 0%

=

o5 i.:{‘ =y o o2 i ) ' - ;
- = i A et V-"‘F 5‘.14 .“, = [aa. h-. 4 9\

< r

@D pote 1207 5‘.’?;2 (i?», "“‘-z\ = 3-
@ Lbﬂ'(’iklﬁ}(&!if 410°C

e

G = S2o0 W
W

. [y A A"
.Iﬁ ("‘30&’ \‘j',';jl.'_-?:_\ = !\.-'! (‘io .‘C, U")d“} = &7y ( S0 ’/

1‘-,"\)\—""\" =

~

4
-

2720,4 10 £46,41- 10 243918 J/,L;,

B i‘w.!—y
a) “;F’; 3 % > ~ S 400 = 0,602668 L_é/ﬁ =) ?;6 P}/Zf«j

LM_"‘M_ Zdifﬁu ?_43&{,‘{0}

l—) sucbinsd Q-"i(f

P L:c -G
2
A
.o._);) ":..i-——-, l.-car,g SRR
“'—3‘ A=ty
W . , N \1 )
; i f . i 0 s 1ocla
e A28 i ¥ 9,08 - L1 s

.V\,ﬁf:. @)
I

-
i Ay .-—?\
= W L'-b-;-‘-h.w"’wf‘-.

. = )
W (A %) + (A-w) b ( £30", {) — W (1207 4

L)
L

1 = f,". = W

2 i, qiha P) =
=\ W (”ﬂj ~ w30

ALt

[ win coy bl 2)) = W Al

1

W -

-
!
—
il
i
A2
r~J
—
+J
o
=
S
Ay

-
-
VL
1
3
>
(@
ot
oy
(P
&
1%
0,
o/
i
(&)
r~
o
et
5
5



